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clf
N=1001;
w=logspace(-1,2,N);

sys(1)=tf(100*[1],[1 1 OD);
sys(2)=tf(100*[0.1 1],[1 1 O]);
sys(3)=tf(100*[0.2 1],[1 1 O]);
sys(4)=tf(100*[0.05 1],[1 1 OD);

for k=1:4
[mag,phase]=bode(sys(k),w);

for i=1:N
mag_bode(1)=20*1og10(mag(i));
phase_bode(i)=phase(i);

end

subplot(2,1,1)

semilogx(w, mag_bode,"-b","LineWidth",3);

axis([-1 100 -40 60])

set(gca, "GridLineStyle","-", "FontName", "times", "FontSize",18)
set(gca, "ytick",[-60 -40 -20 0 20 40 60])

xlabel ("{\omega} (rad/sec)");

ylabel ("Magnitude (dB)")

grid on;

hold on

subplot(2,1,2)



semilogx(w, phase_bode, "-b","LineWidth",3);
axis([-1 100 -180 -90D)

set(gca, "GridLineStyle","-", "FontName", "times", "FontSize",18)

set(gca, "ytick",[-180 -150 -120 -90])
xlabel ("{\omega} (rad/sec)");

ylabel ("Phase (degree)*)

grid on;

hold on

Lgm, pm]=margin(sys(k))
end

hold off

h=feedback(K*tF([1],[1 1 01),1)
o HENHII AFBEIRCH. =, f12 380= O 7-12 AIA-UA

1

D(s) = K,G(s) = o

H(s)=1

clf
K=100

h=fFeedback(K*tf([1],[1 1 0]).1)
[yl,tl]=step(h,10);

h=Feedback(K*tf([0.1 1],[1 1 0]),1)
[y2,t2]=step(h,10);

plot(tl,yl,"-k",t2,y2,"-b","LineWidth",3);

axis([0 10 0 2D

set(gca, "GridLineStyle","-", "FontName", "times", "FontSize",18)

xlabel("Time(sec)");
ylabel ("Output™)
grid;
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clf

N=1001;

w=logspace(-1,2,N);

T=0.17;

alpha=0.13;
atan((1-alpha)/(2*sqrt(alpha)))*180/pi
10*1og10(1/alpha)

sys(1)=tf(100*[1],[1 1 OD);

sys(2)=tf(100*[T 1],conv([alpha*T 1],[1 1 0]));

for k=1:2
[mag,phase]=bode(sys(k),w);

for i=1:N
mag_bode(i)=20*1og10(mag(i));



phase_bode(i)=phase(i);
end
[w" mag_bode® phase bode"];
subplot(2,1,1)
semilogx(w, mag_bode,"-b","LineWidth",3);
axis([-1 100 -40 60])
set(gca, "GridLineStyle","-", "FontName", "times", "FontSize",18)
set(gca, "ytick",[-60 -40 -20 0 20 40 60])
xlabel ("{\omega} (rad/sec)");
ylabel ("Magnitude (dB)")
grid on;
hold on

subplot(2,1,2)

semilogx(w, phase_bode, "-b","LineWidth",3);

axis([-1 100 -180 -90D)

set(gca, "GridLineStyle","-", "FontName", "times", "FontSize",18)
set(gca, "ytick",[-180 -150 -120 -90])

xlabel ("{\omega} (rad/sec)");

ylabel ("Phase (degree)*)

grid on;

hold on

[Gm,Pm,Wcg,Wecp]=margin(sys(k))
end

hold off

clf

K=100
T=0.17;
alpha=0.13;

h=Feedback(tF(K*[T 1],conv([alpha*T 1],[1 1 0])),1)
[y2,t2]=step(h,10);

plot(t2,y2,"-b","LineWidth",3);
axis([0 10 0 2D

set(gca, "GridLineStyle","-", "FontName", "times", "FontSize",18)
xlabel ("Time(sec)");

ylabel ("Output™)

grid;
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num=10;
den=conv([0.2 1],[1 1 O]

% Original system

w=logspace(-1,2,200);

[mag, phase]=bode(num,den,w);
[gm,pm,wcg,wcp]=margin(mag,phase,w)
figure(l)

margin(tf(num,den))

% Design the First lead controller

phimax=55;
alpha=(1-sin(pi*phimax/180))/(1+sin(pi*phimax/180))
10*1og10(1/alpha)

[w® 20*1og1l0(mag) phase ]

wmax=4.73;
T=1/(wmax*sqgrt(alpha))
numl=[T 1];
denl=[T*alpha 1];

num=conv(numl,num);
den=conv(denl,den);

[mag, phase]=bode(nhum,den,w);
[gm,pm,wcg,wcp]=margin(mag,phase,w)
figure(2)

margin(tf(num,den))

u=linspace(1,1,200);
t=linspace(0,5,200);
[yl=1sim(feedback(tf(num,den),1),u,t);
figure(3d)

plot(t,y);

grid on

% Design the second lead controller
phimax=32;

alpha=(1-sin(pi*phimax/180))/(1+sin(pi*phimax/180))
10*1og10(1/alpha)



[w® 20*1og1l0(mag) phase ]

wmax=6.73;
T=1/(wmax*sqgrt(alpha))
numl=[T 1];
denl=[T*alpha 1];

num=conv(numl,num);
den=conv(denl,den);

[mag, phase]=bode(num,den,w);
[gm,pm,wcg,wcp]=margin(mag,phase,w)
figure(4)

margin(tf(num,den))

u=linspace(1,1,200);
t=linspace(0,5,200);
[yl=1sim(feedback(tf(num,den),1),u,t);
figure(b)

plot(t,y);

grid on
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clf

N=1001;
w=logspace(-2,2,N);
K=10;

sys(1)=tf(5*K,[1 6 5]);

Ti=1/0.6;

sys(2)=tf(5*K*[Ti 1],conv([Ti O0],[1 6 5]));
Ti=1/3;

sys(3)=tf(5*K*[Ti1 1],conv([Ti 0],[1 6 5]));

for k=1:3
[mag,phase]=bode(sys(k),w);

for i=1:N
mag_bode(i)=20*1og10(mag(i));
phase_bode(i)=phase(i);
end
[w" mag_bode® phase bode"];
subplot(2,1,1)
semilogx(w, mag_bode,"-b","LineWidth",3);
axis([-01 100 -40 60])
set(gca, "GridLineStyle","-", "FontName", "times", "FontSize",18)
set(gca, "ytick",[-60 -40 -20 0 20 40 60])
xlabel ("{\omega} (rad/sec)");
ylabel ("Magnitude (dB)")
grid on;
hold on

subplot(2,1,2)

semilogx(w, phase_bode, "-b","LineWidth",3);

axis([-01 100 -180 0])

set(gca, "GridLineStyle","-", "FontName", "times", "FontSize",18)
set(gca, "ytick",[-180 -135 -90 -45 0])

xlabel ("{\omega} (rad/sec)");

ylabel ("Phase (degree)*)

grid on;

hold on

[Gm,Pm,Wcg,Wecp]=margin(sys(k))
end

hold off
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clf

t=0:0.001:10;

sys(1)=tf(5*K,[1 6 5]);

K=10;

Ti=1/0.6;

sys(2)=tf(5*K*[Ti 1],conv([Ti O0],[1 6 5]));
Ti=1/3;

sys(3)=tf(5*K*[Ti1 1],conv([Ti 0],[1 6 5]));

h=Feedback(sys(1),1)
[yl]l=step(h,t);
h=Feedback(sys(2),1)
[y2]=step(h,t);
h=Feedback(sys(3),1)
[y3]=step(h,t);

plot(t,yl,"-k",t,y2,"-b",t,y3,"--b", "LineWidth",3);

axis([0 5 0 2D

set(gca, "GridLineStyle","-", "FontName", "times", "FontSize",18)
xlabel ("Time(sec)");

ylabel ("Output™)

grid;
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num=100;
den=conv([1 1],[0.2 1]);

w=logspace(0, 3,200);

[mag, phase]=bode(num,den,w);
[gm,pm,wcg,wcp]=margin(mag,phase,w)
figure(l)

margin(num,den)

[w® 20*1og1l0(mag) phase ]

alpha=107(18.8/20)
T=10/6.75

numl=[T 1];
denl=[T*alpha 1];

num=conv(numl,num);
den=conv(denl,den);

[mag, phase]=bode(num,den,w);
[gm,pm,wcg,wcp]=margin(mag,phase,w)
figure(2)

margin(tf(num,den))

u=linspace(1,1,200);
t=linspace(0,5,200);
[yl=Isim(num,[0 O num]+den,u,t);
figure(3d)

plot(t,y);

grid on
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clf

N=1001;
w=logspace(-1,2,N);
K=10;

Ti=1/0.6;

sys(1)=tf(5*K*[Ti1 1],conv([Ti O0],[1 6 5]));
Ti=1/0.6;Td=1/10;

sys(2)=tf(5*K*conv([Td 1],[Ti 1]),conv([Ti O0],[1 6 5]));

for k=1:2
[mag,phase]=bode(sys(k),w);

for i=1:N
mag_bode(i)=20*1og10(mag(i));
phase_bode(i)=phase(i);
end
[w" mag _bode" phase bode"];
subplot(2,1,1)
semilogx(w, mag_bode,"-b","LineWidth",3);
axis([-1 100 -40 40])
set(gca, "GridLineStyle","-","FontName", "times", "FontSize",18)
set(gca, "ytick",[-60 -40 -20 0 20 40 60])
xlabel ("{\omega} (rad/sec)");
ylabel ("Magnitude (dB)")
grid on;
hold on

subplot(2,1,2)

semilogx(w, phase_bode,"-b","LineWidth*,3);

axis([-1 100 -180 0O])

set(gca, "GridLineStyle","-","FontName", "times", "FontSize",18)
set(gca, "ytick",[-180 -135 -90 -45 0])

xlabel ("{\omega} (rad/sec)");

ylabel ("Phase (degree)")

grid on;

hold on

[Gm,Pm,Wcg,Wecp]=margin(sys(k))

end
hold off
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clf
t=0:0.001:10;

K=10;

Ti=1/0.6;

sys(1)=tf(5*K*[Ti 1],conv([Ti O0],[1 6 5]));
Ti=1/0.6;Td=0.1;

sys(2)=tf(5*K*conv([Td 1],[Ti 1]),conv([Ti O0],[1 6 5]));

h=Feedback(sys(1),1)

[yl]l=step(h,t);
h=Feedback(sys(2),1)

[y2]=step(h,t);
plot(t,yl,"--k",t,y2,"-b","LineWidth",3);
axis([0 5 0 2D

set(gca, "GridLineStyle","-","FontName", "times", "FontSize",18)
xlabel ("Time(sec)");

ylabel ("Output™)

grid;
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num=100;
den=conv([1 1],[0.2 1]);

w=logspace(0, 3,200);

[mag, phase]=bode(num,den,w);
[gm,pm,wcg,wcp]=margin(mag,phase,w)
figure(l)

margin(num,den)

[w® 20*1og1l0(mag) phase ]

alpha=107(18.8/20)
T=10/6.75

numl=[T 1];
denl=[T*alpha 1];

num=conv(numl,num);
den=conv(denl,den);

[mag, phase]=bode(num,den,w);
[gm,pm,wcg,wcp]=margin(mag,phase,w)
figure(2)

margin(tf(num,den))

u=linspace(1,1,200);
t=linspace(0,10,200);
[yl=Isim(feedback(tf(num,den),1),u,t);
figure(3d)

plot(t,y);

grid on

% Design lead controller

phimax=35;
alpha=(1-sin(pi*phimax/180))/(1+sin(pi*phimax/180))
10*1og10(1/alpha)

[w® 20*1og1l0(mag) phase ]

wmax=10;
T=1/(wmax*sqgrt(alpha))
numl=[T 1];
denl=[T*alpha 1];

num=conv(numl,num);
den=conv(denl,den);

[mag, phase]=bode(nhum,den,w);
[gm,pm,wcg,wcp]=margin(mag,phase,w)
figure(4)



margin(tf(num,den))

u=linspace(1,1,200);
t=linspace(0,10,200);
[yl=1sim(feedback(tf(num,den),1),u,t);
figure(b)

plot(t,y);

grid on



